Name

MUltlplg 2-Dlglt Numbers C°&%°"’ Number and Operations in Base
.th R o Ten—4.NBT.B.5 Also 4.0A.A.3

with Kegrouping MATHEMATICAL PRACTICES

Essential Question How can you use regrouping to multiply a 2-digit MP1, MP4, MP7

number by a 1-digit number?

(Rﬁ'

3

world

A Thoroughbred racehorse can run at speeds of
up to 60 feet per second. During practice, Celia’s
horse runs at a speed of 36 feet per second.
How far does her horse run in 3 seconds?

3 Example 1

Multiply. 3 X 36 Estimate. 3 X 40 =

g Unlock the Problem

® Underline important information.

® |s there information you will not use?
If so, cross out the information.

MODEL THINK RECORD
STEP1
PRRRRREE | Multiply the ones. {
- [RRRRMRRRN I___'____I . 1
e . — '\ e e o] 3 X 6 ones = 18 ones 36 Regroup
[RRRRRRARARE NRRRRRRRREE RRRARE RN REE B R RN SR | Regroupthe 180ne5. X3 18onesas
8 1 ten 8 ones.
T
2| step2
= i !
£ et 1, Multiply the tens. 36  10tensisthe
E i : 3 X 3 tens = 9 tens X 3 sameas 1 hundred
g ; | Add the regrouped ten. 108  Otens.
5 | 9 tens + 1ten = 10 tens
el B ———"
o (L R DA RN R R R R R R AR R |
g i A AR T S RER AR R A SRR AR
g i WD N e e
% So, Celia’s racehorse runs feetin 3 seconds.
% Since is close to the estimate of , the
= | answerisreasonable.
E Math — = .
E 10“‘ MATHEMATICAL PRACTICES ©
Eg Apply Look at Step 1. How does
5 the model support your work?
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£} Example 2

Multiply. 8 X 22 Estimate. 8 X 20 =

MODEL THINK RECORD
STEP1
TR Multiply the ones. )
(RRRRRRRER R
(RRRRERREREN ERRRRERRRRET RN 8 X 2 ones = 16 ones 1
VIO - 22 Regroup
R
. G Regroup the 16 ones. X 8 16 ones as
(RRRRERREREN RRRRRERRR RN Bl N 6 1ten 6 ones.
(RRRRRRARR RN RARERERERRESI
(RARERERNA R RARRARERARE B [
(RARERRRRR R RRRRARERA RN Bl
STEP 2
I___________r_-fr_anF‘7~r‘7 Multiply the tens. :
| o 8 x 2 tens = 16 tens 22 17 tens i
: N X 8 the same as 1
i  RRRRRRRRREN RRRRRRRRA hundred 7 tens.
HEE T Add the regrouped ten. 176
IRERRRRRRRRIA RERRRRERERE Bl _
\ A RRRRRRRNERE RNRERRERREN B 16 tens + 1ten = 17 tens
T {RARRRRERREI ERRRRRRRRRE Bl
So,8 X 22 = . Since is close to the estimate
of , it is reasonable.
Try This! Multiply. 7 X $68
Estimate. 7 X $68 A (Use partial products. A Use regrouping. A
X 7/ X 7/
N . AN J

. Identify Relationships Look at the partial products and regrouping
methods above. How are the partial products 420 and 56 related to 476?
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Name

Share and Show |¥&L”.}’i’

[ RRRRRRRERE!

1. Use the model to find the product.

Estimate. Then record the product.

2. Estimate:

42
x 4

3. Estimate:

32
X 2

Estimate. Then record the product.

[ RRRERRENE

[RARRRRRRE!
[ RRRERRRRE!

LN
LN

ARRRRRN
ARRRRRN

2X 36 =

@ 4. Estimate:

&1
x 5

@ 5. Estimate:

$03
x 7/

® MATHEMATICAL PRACTICES @

Look for Structure What are the
steps for using place value and
regrouping to find 3 X 782

6. Estimate: 7. Estimate: 8. Estimate: 9. Estimate:
530) $25 50 $94
X 2 X 3 x & x b
Practice: Copy and Solve Estimate. Then record the product.
10. 3 X 82 11. 9 X 41 12. 6 X 75 13. 7 X $23 14. 8 X $54

Identify Relationships Algebra Write a rule. Find the unknown numbers.

15. Carton 1 2 3 4 5 16. Row 2 3 4 5 6 ‘

Eggs 12 | 24 48 Seats 32 | 48 | 64

17. It will cost $73 per hour to rent a sailboat and $88
per hour to rent a ski boat. How much more will it cost to
rent a ski boat than a sailboat for 4 hours?
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sy MATHEMATICAL PRACTICES ~ MODEL - REASON - MAKE SENSE

. . . Real
Problem Solving ¢ Applications (W%'d

Use the table for 18-19.

18. At the speeds shown, how much
farther could a black-tailed jackrabbit run

than a desert cottontail in 7 seconds?

Black-tailed
Jackrabbit

Desert

19. A black-tailed jackrabbit hops about ,
Cottontail

7 feet in a single hop. How far can it hop - e
in 5 seconds? A Desert Cottontail

I WRITE *» Math
20. Mr. Wright bought a 3-pound bag of cat food and a Show Your Work

5-pound bag of dog food. There are 16 ounces in each pound.
How many ounces of pet food did Mr. Wright buy?

21. BRI The sum of two numbers is 31. The product of the
two numbers is 150. What are the numbers?

22. Use Reasoning 6 X 87 is greater than 5 X 87.
How much greater? Explain how you know without multiplying.

y X WO | HINK SMARTER Multiply 6 X 73. For 23a-23d, select True or False for
each statement.

23a. Areasonable estimate of the product is $420. O True O False
23b. Using partial products, the products

are 42 and 180. O True O False
23c. Usingregrouping, 18 ones are regrouped as

8 tens and 1 one. O True O False
23d. The productis 438. O True O False

© Houghton Mifflin Harcourt Publishing Company e Image Credits: () ©Arto Hakola/Shutterstock
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Name

Multiply 2-Digit Numbers with Regrouping

-—
-—

Estimate. Then record the product.

1. Estimate: 150 2. Estimate:
1

46 32

X ) X &
138

5. Estimate: 6. Estimate:

37 $186

X 9 X 7

eal
Problem Solving (‘?\,‘?é;ld

9. Sharon is 54 inches tall. A tree in her
backyard is 5 times as tall as she is. The floor
of her treehouse is at a height that is twice
as tall as she is. What is the difference, in
inches, between the top of the tree and the
floor of the treehouse?

10.

Describe how the methods are alike and different.

Practice and Homework
Lesson 2.10

Comiman ) COMMON CORE STANDARD—4.NBT.B.5
Use place value understanding and properties
of aperations to perform multi-digit arithmetic.

. Estimate: 4. Estimate:
$55 61

X 2 X &
Estimate: 8. Estimate:
853 95

X 5 X &

Mr. Diaz’s class is taking a field trip to the
science museum. There are 23 students
in the class, and a student admission
ticket is $8. How much will the student
tickets cost?

. I WRITE »Math Compare partial products and regrouping.
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Lesson Check @neres)

1. Aferryboat makes four trips to an island 2. Julian counted the number of times he
each day. The ferry can hold 88 people. drove across the Seven Mile Bridge while
If the ferry is full on each trip, how many vacationing in the Florida Keys. He crossed
passengers are carried by the ferry the bridge 34 times. How many miles in all
each day? did Julian drive crossing the bridge?

Spirul ReVieW (.NBTA.2, 4.NBTB.4, 4.NBTB.5)

3. Sebastian wrote the population of his city 4. Aplane flew 2,190 kilometers from Chicago
as 300,000 + 40,000 + 60 + 7. Write the to Flagstaff. Another plane flew 2,910
population of Sebastian’s city in standard kilometers from Chicago to Oakland. How
form. much farther did the plane that flew to
Oakland fly than the plane that flew to
Flagstaff?
5. Toribuys 27 packages of miniature racing 6. Use the Distributive Property to write an
cars. Each package contains 5 cars. About expression equivalent to 5 X (3 + 4). g
how many miniature racing cars does Tori §
buy? 2
£
=
-
s ©
FOR MORE PRACTICE
- :‘ 0 GO TO THE
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